[image: image4.png]cbseﬁguess





	[image: image4.png]
	http://www.cbseguess.com/




SAMPLE PAPER 2011
CLASS- XII
SUBJECT: Computer Science (083) 
Time: 3 hrs












MM: 70

Note: 

· All questions are compulsory.

· Programming Language C++.
1. (a)
Differentiate between run time error and syntax error. Give one example of each.
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(b)
Name the header files for which the following function belongs:
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(i)
isalnum ( )


(ii)
getxy( )

(c)
Rewrite the following program after removing all syntactical error(s), if any. Underline each correction:

#include<iostream.h>
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int Digit 6;

void main( )

{



Number = 18;



for (int Cv = 1 : Cv <= 6 ; Cv ++, Number = 3)



if (Number % Digit = 0)





cout<< Number / Digit ;





cout>>endl;




else





cout<< Number + Digit << endl;


}

(d)
Give the output of the following program:
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#include<iostream.h>

void main( )

{



int Values [ ] = {2, 4, 8, 10};


int *ptr = Values;



for (int C = 0 ; C < 3 ; C ++)



{




cout<< *ptr << “@”;




ptr ++;



}



cout << endl;



for ( C = 0 ; C <4 ; C++)



{




(*ptr) * = 3;




‒ ‒ptr;



}



for (C = 0; C< 4 ; C++)




cout<< Values [C ] << “%” ;



cout<< endl;


}
(e)
Give the output of the following program:
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#include<iostream.h>

void ReCode ( char Text[ ], int Num );

void main ( )


{



char Note [ ] = “Butterfly”;



Recode (Note, 2);



cout << Note <<endl;


}


void ReCode (char Text [ ], int Num)


{



for ( int  K = 0 ; Text [K] !=’\0’ ; K++)



if ( K % 2 == 0)





Text [K] = Text [K] ‒ Num;




else if ( islower (Text[K] ))





Text [K] = toupper ( Text [K] )




else





Text[K] = Text[K] + Num;

}

(f)
Study the following program and select the correct option(s) out of the four choices given below as the possible set of such numbers generated from the program code. Justify your answer.
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#include<iostream.h>


#include<stdlib.h>


const int MIN = 25 ; 

void main( )


{



randomize ( );



int SCORE = 10 , Num;



for (int i = 1 ; i <= 4 ; i ++ )



{




Num = MIN + random (SCORE );




cout << Num << “:”;




SCORE ‒ ‒;



}


}
(i) 34:31:30:33:
(ii) 29:33:30:31:
(iii) 34:31:30:31:
(iv) 34:31:29:33:



2. (a)
Explain Constructor overloading with a suitable example in C++.
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(b)
Answer the questions (i) to (ii) after going through the following class:
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class Product

{



char P_Type[20];



char P_Name [20];



int Weight;



float Rate;


Product( )




// Function 1

{



strcpy (P_Type, “Steel”);



strcpy (P_Name, Sheet”);



Weight = 3500;



Rate = 500;


public:



void Display ( )



// Function 2


{




cout<< P_Type <<”-“<<P_Name << “:”<< Weight << “@ “<< Rate << endl;



}


};


void main( )


{



Product P;


// Statement 1



P.Display ( );


// Statement 2


}

(i) Will Statement 1 initialize all the data members for objects P with the values given in the Function 1? (Yes or No). Justify your answer suggesting the corrections to be made in the above code.
(ii) What shall be the possible output when the program gets executed? (Assuming if required –the suggested corrections are made in the program).
(c)
Define a class named PRODUCT in C++ with following description:
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Private Members:

· P_NO

// Product number
· P_Type

// Product Type
· P_Name
// Product Name

· P_Price

// Product Price
· A function Get_Prod ( ) to set the price of the product according to the following:

For the value of P_Type “Mobile”

P_Name
P_Price
SONY

15000
SAMSUNG
13000

For P_Type other than “Mobile”

P_Price gets included 14% Extra charge for installation.
Public Members:

· A constructor to assign initial values of P_NO, P_Type and P_Name as “NOT ASSIGNED” and P_Price as 0.

· A function Get_Info( ) to input the values of P_NO, P_Name and P_Type and also invoke Get_Prod( ) function.
· A function Disp_Info( ) to display the value of all the data members.

(d)
Answer the questions (i) to (iv) after going through the following class:
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class  AUTHOR

{



char Name[20];



double Royalty;


protected:



void Register( );


public:



AUTHOR( );



void Enter( );



void Display( );


};


Class PERSON


{



char Address[30];


protected:



float Salary;


public:



PERSON( );



void Get( );



void Show( );


};


class EMPLOYEE : private AUTHOR, public PERSON


{



int ECode;



char Dept[30];


public:



EMPLOYEE( );



void Start( );



void Print( );

(i) Write the name of data members, which are accessible from object belonging to the class EMPLOYEE?
(ii) Write the name of all the member functions which are accessible from object belonging to class PERSON.
(iii) Write the name of all members which are accessible from member function of class EMPLOYEE?
(iv) How many bytes will be required by an object of class EMPLOYEE?

3. (a)
Write a function in SORT_MARKS( ) in C++ to sort an array of structure Student in Ascending order of 

Marks using Bubble sort.
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Note: Assume the following definition of structure Student

Struct Student

{


int RollNo;


char Name[25];


float Marks;

};

(b)
An array T [50][20] is stored in the memory along the Column with each element occupying 4 bytes of storage. Find the base address an address of the element T [30][15], if an element T [25][10] is stored at the address 9800.
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(c)
Consider the following portion of a program, which implements passengers Queue for a train. Write the definition of function Q_Insert( ), to insert a new node in the queue with required information:
4

struct NODE


{



long TicketNo;



char PName[20];
// Passenger Name



NODE *NEXT;


}


class TrainQueue


{



NODE *rear, *front;


public:



TrainQueue( ) { rear = NULL, front = NULL ;}



void Q_Insert( );



void Q_Delete ( );



~TrainQueue( );


};

(d)
Write a user defined function ALT_PROD( ) in C++ to find and return the product of elements from all alternate locations of a two-dimensional array starting from AR[0][0].
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Note:



If the following is the elements of the array:

	AR[0][0]
	AR[0][1]
	AR[0][2]

	5
	6
	7

	AR[1][0]
	AR[1][1]
	AR[1][2]

	8
	3
	4

	AR[2][0]
	AR[2][1]
	AR[2][2]

	11
	2
	9



The function ALT_PROD( ) should multiply the elements AR[0][0], AR[0][2], AR[1][1], AR[2][0] and AR[2][2

(e)
Evaluate the following notation of expression into postfix and show status of stack after execution of each operation:
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120, 45, 20, +, 25, 15, ‒, +, *
4. (a)
Observe the following program code given below carefully answer the question that follows:
1

class Student

{



int S_No;



char Name[20];


public:



// Function to enter student details



void EnterDetails( );



// Function to display student details



void ShowDetails( );



// Function to return S_No



int RS_No( )



{




return S_No;



}


};


void Update (Student NEW)


{



fstream File;



File.open (“STUD.Dat”, ios :: binary | ios :: in | ios :: out );



Student STUD;



int Rec_Read = 0, Found = 0;



while (!Found && File.read ( char * ) &STUD, sizeof(STUD)))


{




Rec_Read++;



if (NEW.RS_No( ) = = STUD.RS_No ( ) )




{





.....................................// Missing statement





File.write (char *) &NEW, sizeof (NEW));





found =1;




}




else





File.write (char *) & STUD, sizeof (STUD));



}



if ( !Found) 



cout<< “Record not found for modification”;



File.close ( );


}

If the function Update( ) suppose to modify a record in the file STUD.Dat with the value Student NEW passed to its argument, write the suitable statement for Missing Statement using seekp( ) and seekg( ), whichever  is needed.
(b)
Write a function in C++ to count and display the no of lines starting with the vowel ‘A’ having single character in the file “Vowel.TXT”.
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Example:



If the Line contains:




A boy is playing there.



I love to eat pizza.




A plane is in the sky.



Then the output should be: 2
(c)
Given the binary file CAR.Dat, containing records of the following class CAR type:
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class CAR

{



int C_No;



char C_Name[20];



float Milage;


public:



void enter( )
 {
 cin>> C_No ; gets(C_Name) ; cin >> Milage;
}



void display( ) 
{ 
cout<< C_No ; cout<<C_Name ; cout<< Milage; 
}



int RETURN_Milage( )



{




return Milage;



}


};


Write a function in C++, that would read contents from the file CAR.DAT and display the details of car with mileage between 18 to 25.
5. (a)
What is Primary key? Explain with a suitable example.
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(b)
Consider the following table FLIGHT and FARES. Write the SQL commands for the statements (i) to (iv) and output from (v) to (viii).
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Table: FLIGHT
	FL_NO 
	DEPARTURE
	ARRIVAL
	NO_FLIGHTS
	NOOFSTOPS

	IC301
	MUMBAI
	DELHI 
	8 
	0

	IC799
	BANGALORE
	DELHI
	2 
	1

	MC101 
	INDORE 
	MUMBAI
	3
	0

	IC302 
	DELHI
	MUMBAI
	8
	0

	AM812
	KANPUR
	BANGALORE
	3
	1

	IC899 
	MUMBAI
	KOCHI
	1
	4

	AM501
	DELHI
	TRIVANDRUM
	1
	5

	MU499 
	MUMBAI 
	MADRAS
	3
	3

	IC701
	DELHI 
	AHMEDABAD
	4
	0 



    Table: FARE

	FL_NO 
	AIRLINES
	FARE
	TAX%

	1C701 
	Indian Airlines
	6500
	10

	MU499
	Sahara 
	9400
	5

	AM501
	Jet Airways
	13450
	8

	IC899
	Indian Airlines
	8300
	4

	1C302
	Indian Airlines
	4300
	9

	1C799
	Indian Airlines
	10500
	10

	MC101
	Deccan Airlines
	3500
	4


(i) Display Flight No, No of Flights arriving to the DELHI
(ii) Display all the airlines that have maximum no of flights.
(iii) Display total fare of all the airlines.
(iv) To display departure and arrival points of flight no 1C302 and MU499.

Give the Output:
(v) SELECT COUNT(DISTINCT FL_NO) FROM FLIGHT;
(vi) SELECT MIN(NOOFSTOPS) FROM FLIGHT

WHERE FL_NO = ‘IC899’;

(vii) SELECT AVG(FARE) FROM FARE
WHRE AIRLINES = ‘Indian Airlines’; 

(viii) SELECT FL_NO, NO_FLIGHTS FORM FLIGHT
WHERE DEPARTURE=’MUMBAI’;
6. (a)
State and verify absorption law using truth table.
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(b)
Write the equivalent Boolean Expression for the following logic circuit:
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(c)
Given the following truth table, derive the Sum of Product Boolean Expression for it:

1
	X
	Y
	Z
	F(X, Y, Z)

	0
	0
	0
	0

	0
	0
	1
	1

	0
	1
	0
	1

	0
	1
	1
	0

	1
	0
	0
	0

	1
	0
	1
	1

	1
	1
	0
	0

	1
	1
	1
	1


(d)
Reduce the following Boolean Expression using K-map:
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F (X, Y, Z, W) = [image: image3.png]£(0,1,2,4,57,8,9,10,11,14



)
7. (a)
Differentiate between Baseband and Broadband transmission.
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(b)
Give the full form of the following:
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(i) SMSC


(ii) TDMA
(c)
What is Ethernet Card?
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(d)
Write the name of two client side scripting language.
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(e)
Indian Public School, in Darjeeling is starting up the network between its different wings. There are Four Buildings named as SENIOR, JUNIOR, ADMIN and HOSTEL as shown below.:





       SENIOR




   JUNIOR




       ADMIN


     HOSTEL


The distance between various buildings is as follows:



ADMIN TO SENIOR

100m


ADMIN
TO JUNIOR

350m



ADMIN TO HOSTEL

400m



SENIOR TO JUNIOR

300m



SENIOR TO HOSTEL

450m



JUNIOR TO HOSTEL

100m


Number of Computers in Each Building



SENIOR


130



JUNIOR


80



ADMIN


160



HOSTEL


50
(e1)
Suggest the cable layout of connections between the buildings.
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(e2) 
Suggest the most suitable place (i.e. building) to house the server of this School, provide a suitable reason.

(e3)
Suggest the placement of the following devices with justification.


1
(i) Repeater
(ii) Hub / Switch

(e4)
The organization also has Inquiry office in another city about 50-60 Km away in Hilly Region. Suggest the suitable transmission media to interconnect to school and Inquiry office out of the following .
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(i) Fiber Optic Cable

(ii) Microwave

(iii) Radio wave
(f)
What is Shareware software?
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(g)
Name two web browsers supported by only LINUX Operating System.
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